
6584 6584.5 6585 6585.5 6586
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

6592

6592.5

6593

6593.5

6594

6594.5

6595

6595.5

6596

ru
n

run:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6594}



6584 6584.5 6585 6585.5 6586
cyclenum

162.8−

162.6−

162.4−

162.2−

162−

161.8−

161.6−

161.4−

161.2−

161−

160.8−

160.6−

us
l_

1X

usl_1X:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

20

20.5

21

21.5

22

us
l_

4a
Y

usl_4aY:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

111.6

111.8

112

112.2

112.4

112.6

112.8

113

113.2

113.4

113.6

113.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

9.5

10

10.5

11

11.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

58.5−

58−

57.5−

57−

56.5−

us
l_

12
X

usl_12X:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

6592

6592.5

6593

6593.5

6594

6594.5

6595

6595.5

6596

ru
n

run:cyclenum {run == 6594}



6584 6584.5 6585 6585.5 6586
cyclenum

174.5−

174−

173.5−

173−

172.5−

us
r_

1X

usr_1X:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

23.5

24

24.5

25

25.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

242.5

243

243.5

244

244.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
Y

usr_4eY:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

49.8−

49.6−

49.4−

49.2−

49−

48.8−

48.6−

48.4−

48.2−

48−

47.8−

47.6−

us
r_

12
X

usr_12X:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

6592

6592.5

6593

6593.5

6594

6594.5

6595

6595.5

6596

ru
n

run:cyclenum {run == 6594}



6584 6584.5 6585 6585.5 6586
cyclenum

30282.5

30283

30283.5

30284

30284.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

6208.5

6209

6209.5

6210

6210.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

5950.5

5951

5951.5

5952

5952.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

1123−

1122.5−

1122−

1121.5−

1121−

us
l_

co
il6

usl_coil6:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

22407.6

22407.8

22408

22408.2

22408.4

22408.6

22408.8

22409

22409.2

22409.4

22409.6

22409.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

6592

6592.5

6593

6593.5

6594

6594.5

6595

6595.5

6596

ru
n

run:cyclenum {run == 6594}



6584 6584.5 6585 6585.5 6586
cyclenum

27539.5−

27539−

27538.5−

27538−

27537.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

5453.4−

5453.2−

5453−

5452.8−

5452.6−

5452.4−

5452.2−

5452−

5451.8−

5451.6−

5451.4−

5451.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

5429.6

5429.8

5430

5430.2

5430.4

5430.6

5430.8

5431

5431.2

5431.4

5431.6

5431.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

689.8−

689.6−

689.4−

689.2−

689−

688.8−

688.6−

688.4−

688.2−

688−

687.8−

687.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

21517

21517.5

21518

21518.5

21519

us
r_

co
il7

usr_coil7:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

6592

6592.5

6593

6593.5

6594

6594.5

6595

6595.5

6596

ru
n

run:cyclenum {run == 6594}



6584 6584.5 6585 6585.5 6586
cyclenum

428−

427.5−

427−

426.5−

426−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

71−

70.5−

70−

69.5−

69−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

23

23.5

24

24.5

25

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

465.5−

465−

464.5−

464−

463.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

90.5−

90−

89.5−

89−

88.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

22

22.2

22.4

22.6

22.8

23

23.2

23.4

23.6

23.8

24

24.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6594}



6584 6584.5 6585 6585.5 6586
cyclenum

178

178.5

179

179.5

180

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

42

42.5

43

43.5

44

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

10−

9.5−

9−

8.5−

8−4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

188.2

188.4

188.6

188.8

189

189.2

189.4

189.6

189.8

190

190.2

190.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

18.4−

18.2−

18−

17.8−

17.6−

17.4−

17.2−

17−

16.8−

16.6−

16.4−

16.2−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

8−

7.5−

7−

6.5−

6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6594}



6584 6584.5 6585 6585.5 6586
cyclenum

234−

233.5−

233−

232.5−

232−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

85−

84.5−

84−

83.5−

83−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

4−

3.5−

3−

2.5−

2−12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

415.8−

415.6−

415.4−

415.2−

415−

414.8−

414.6−

414.4−

414.2−

414−

413.8−

413.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6594}

6584 6584.5 6585 6585.5 6586
cyclenum

6592

6592.5

6593

6593.5

6594

6594.5

6595

6595.5

6596

ru
n

run:cyclenum {run == 6594}
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